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Problem quickname: 9801

b

Calculate the result.

a) 43 — 3 = 40
d)32-1=31
2)

Calculate the result.

a) 973 — 1 = 972
)

d) 696 — 5 = 691
g) 807 — 1 = 806
3

Calculate the result.

a) 3521 — 2 = 3519
d) 4687 — 27 = 4660
g) 4169 — 62 = 4107
4)

Calculate the result.
a) 48 —4 =44

d) 96 —4 =92

Good Luck!
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b) 49 — 8 = 41
e) 91 — 2 = 89

Solutions to smp-9801-1/VDQY

b) 424 — 2 = 422
e) 465 — 3 = 462
h) 758 — 6 = 752

b) 3357 — 11 = 3346
e) 6659 — 47 = 6612
h) 6537 — 37 = 6500
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56 — 7 = 49 c)83—2 =28l
87T —5H =282 f) 82 —4 =178

¢) 595 — 2 = 593
£) 745 — 3 = 742

¢) 7952 — 36 = 7916
f) 5420 — 12 = 5408

¢) 53 — 4 =49

f) 55 — 8 = 47
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